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WEST BENGAL STATE UNIVERSITY
B.A. Honours Prat-III Examination, 2019

HISTORY

PAPER-HISA-V

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 21fa% 7 2575 RGN o ¥
Candidates should answer in their own words S IPFITN TS ST I TG FFIANNT W
and adhere to the word limit as practicable. Be7 #fA71
GROUP-A
-
1. Answer any four questions from the following: 5x4 =20
fsfeie @-coa s1afe @esa Tea wes

(a) Analyse the causes of the Revolt of 1857.
Sbeq-a7 Raitea Fiae fRese

(b) What do you understand by ‘de-industrialisation’?
SRR’ TS ) @I

(c) Explain the phenorrfenon of commercialisation of agriculture during British rule.
{3 =mitel o7 ifderead aafe gt s

(d) Mention at least two limitations of the Moderates.
FANATA TES3 Yo [T Srard T

(e) When and why did the Muslim League emerge?
P4 8 @ PIA Aoid Besife aib 9

(f) What was the essence of Gandhiji’s Satyagraha?
sifedTa Teptais e H foet o

(g) Why was the Swarajya Party formed?
(@ FAIG] 7o sifde Zrafee ¢

(h) Why did the Cripps Mission fail?
famors i o gy zrafes ¢
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GROUP-B
frem-2

Answer any four questions from the following 20%4 =80

e @-@ 5 eeR Sea we

Analyse the regional variations in the Revolt of 1857.

Soreq AR Remiees sl (afvay [Resgs st

Why did Extremism originate in Indian politics?

Analyse the rise of Gandhiji in Indian politics. How did he give a new look to the 10+10
Indian National Movement?

G T Wi SR 2

Do you think that the Civil Disobedience Movement was a qualified advance over
the Non-Cooperation Movement in every respect? '

O T S ! SN2 S SCHIETH S SR (AT TR it e 9

Give an account of the growth of modern industry in India between 1919 and
1939.

Sodd B (T 50> AT #1418 Siare Syl e Ko Rzze e

Did the Tebhaga Movement succeed in achieving its goal?

(SOt STRIEH [ O STl 7fAe! 37w ZAfes 2

Was the Partition of India in 1947 inevitable?
Y989 -97 OIS o 6 Sifeard &t ¢

Why was planned economy adopted in independent India? Mention the main 10+10
objectives of the first two Five Year Plans.

T Sed Aiee adNS @a a2 @ AR 2 2y ¢ Few e
AT i 7% Sra FCE!)

What was the position of women in late nineteenth and early twentieth century
Indian society?

T =619 (97 '8 1 *1S(a TS SITO NS AAHA SE[ @ {257 9

x
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HISTORY
PAPER-HISA-VI
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 2Nfe® FE FE RPN i [Ho B
Candidates should answer in their own words AIPIGIA [F0er ST T HGI THANNA VI
and adhere to the word limit as practicable. &7 P/
GROUP-A
e+
1. Answer any four questions from the following: 5x4 =20
fasfaRie @-@ 5130 avt Tea nes

(a) How did Voltaire influence the French Revolution?
SECSIR Frel Tt ReRrs ewifis atafee ¢
(b) What was the ‘Civil Constitution of the Clergy’?
e A iz 7 few o
(c) What were the principles of the Vienna Settlement?
St wreae 2o AfdwiH N e o
(d) To what extent was the policy of Terror in France justified?
I A NS ! 1y e 2
(e) What was the role of Louis Kossuth in the Hungarian revolution?
xR {03 773 7 it A e ¢
(f) Wnite a short note on ‘Little Napoleon’.
5y (o9 Beig g b e fee Biwl e
(g) Why did the uprising of Paris Commune break out?
iR SRS TG (o A% 2
(h) How did the First World War lead to the collapse the old empires?
22 fP4ga I e AEreyefed srew %2 aafes
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GROUP-B
feott-<

Answer any four questions from the following

fufefs -t 51aft ava Tee wis

Analyse the socio-economic crises on the eve of the French Revolution.

TR et Aeits Aes ¢ sdafos wpbelem sima s

Make an assessment of the Jacobin Republic. Was the Terror justified?

Sl efereraa b Jeurm Fcal s [ gfesmre fee o

Would you agree with the view that ‘Napoleon was the Child of the Revolution’?
‘eiiferam Reicaa wem fera - gf & @2 wo swda 3t ?

How did Metternich try to create a conservative system in Europe? To what
extent was he successful?

ot I LS 936 TFiie] I NS o GrafzeE= ¢ o wosiifa 7
TrafRCE ¢

Do you think that the main centre of revolution of 1848 was Central Europe and
not France?

offt 6 = 3@ @ Sv-8b Hiteia Reitaa 2 e 2 weg TS, T 79 2

Was German unification achieved more by ‘coal and iron’ than by ‘blood and
iron’?

i @3 afFm & 9@ ¢ @7 NS wors e 8 @ Afea o @R Aits
e ¢

How did industrialisation in Europe create a new working class? Show how trade
unionism and labour parties emerged through the struggles of this class.

TEI e ISR 93 Tg7 AAEIA N 91T (OIE 2 9 N e Wy ey
FONA (BG Lo G #ifi werafa site 6 2

Can the period 1870-1914 be termed as the “Age of Imperialism™?
SHra0-5558 HILFR WIS} PEAS [ HIGIGTANCE o 11 A 2

Why were the Bolsheviks successful in the Russian Revolution of 1917? Was it
merely a handiwork of Lenin?

Y89 R w1 R terifosal o swa zrafee 2 «ft & e e I Ra 9

x

20x4 =80

20

10+10

20

20

20

20

8+12

20

12+8
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PAaPER-HISA-VII

Time Allotted: 4 Hours

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

GROUP-A
st

T Answer any four questions from the following:

feTRe @-FIe1 1afe efvsa Ted wes

(a) Why was Reparation considered as a problem?
Hosae @w s E R zafes ¢

(b) Discuss the causes of the fall of the Weimar Republic.

SN SGTerEd “Toraa Fiaefe ST A1

WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-1II Examination, 2019

Full Marks: 100

20faw FRT FG7 RANG IR [ B 1
P  FreR ©II I T AT N
Ge7 PRI

5x4 =20

(c) Why was Locarno Pact accepted by both France and Germany?

@ G B T @<k 211 ToraR ozt eafeet 2

(d) What were the chief characteristics of Hitler’s foreign policy?

RBeticaa #iaaigAifoa et (afigrefer i fest 2
(¢) Why was NATO formed?
T @ 5ifde e 2

(f) What was the significance of the Spanish Civil War in international politics?

GO GO (A O Slesd F et 2
(2) What do you mean by ‘Great Leap Forward’?
‘Great Leap Forward’ s & @ ¢

(h) How would you explain the rise of a Unipolar World?
@ (F fAr SUm il & i 1R 401 2
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GROUP-B
fTot-2

Answer any four questions from the following

FafalRe -t 51Eff arie Tea we

Was the 1919 Versailles Settlement really ‘harsh’?

Sode -7 ©PfiE #fE a7 [ #iey s i o

What measures did France adopt to overcome her sense of insecurity after 19197
How did these measures affect European diplomatic relations during the period
between the two world wars?

55357 2 T e fFRieier SoR @ Fa7 & & [ omews agd sEfee ¢ 1R
ryrma RSt #ic BB FHATST 7o Gref el eelfie sfes ¢

Analyse the impact of the World Economic Depression on International relations.

GFEos FEa Toi g wafos i eiei omas san

How do you explain the strains in Sino-Soviet relationship during 1950s?
Y5@0 -9 WP BIH-GIfSTIS FItFa BIAIiice f i Rt I 963 2

Can it be argued that de-Stalinization took place in Eastern Europe in the 1950s
and 1960s?

9Bt R Te TS (@ 9520 8 Spvo-aF WAF 7 LA fAsiferdieas wiofes ¢

What was the basis of Nehru’s policy of non-alignment? Assess India’s
contribution to the growth of non-alignment movement.

a6 Farrs A e F & 2 @6 Naers SrwEee [t skees
SRS I S

Why did the United States become involved in the Korean War? What were its
effects in International politics?

@ TSR IR Ioa SIS AR ? WEefor ATANGCS 77 F SR AT6fRe 2

What were the features of the politics of Detente? Why did it fail?

wiote Fraaed (e Fi 2w 2 «ft v g zafes ¢

Discuss the circumstances leading to the reunification of Germany.

@ AR TN FadiFacr e Ao Moafee o SicEs wEi)

X

20x4 =80

20

1248

20

20

20

10+10

12+8

1248

20
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HISTORY

PAPER-HISA-VIII

Time Allotted: 4 Hours

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

GROUP-A
Reet-=

1. Answer any four questions from the following:

fasfeiie c-ceictt o1l aicis ea e
(a) Write a short note on Confucianism.
AP B2 aio RIS Bt @Te)
(b) What was ‘Junk Trade’ in China?

Bz wim sy e 2

Full Marks: 100

anfem T 5% TG Qo [0 wea1
AIPEE [ ST e ST AT Ve
oaq B

5x4 =20

(c) Write briefly on the central administrative system of the Ching rules in China.

Bt 52 AiTia *IPFICe FRIY MTAE g T FRCFC @1

(d) Write a note on the Treaty of Nanking.
TR Giea B @l kg Bl e

(e) What were the main causes of the failure of Taiping Rebellion?

SRR Rrarsn gfer srde Fi B o

(f) What do you know about the Perry Mission (1853) in Japan?

GG (A BT (S @) siee gff F wiean

(g) Write a short note on the Anglo-Japanese Alliance of 1902.

Y90% FAIER SH-TIA B 7o «Ffo IR e Bipt e
(h) What was the significance of the Treaty of Portsmouth (1905)?

(G e (Svoe ) 9a wied ) f&at ¢
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GROUP-B
fort-2
Answer any four questions from the following 20x4 = 80
ffare -t 5170 evsa Tea whe
2. Discuss the characteristics of the Canton Trade System. How did the system 10+10

collapse?

F7o+ Aifiey gz aRRe i SiEma @ R TE PR (ot 2irefes 2

3. Make a comparative analysis between the Boxer Movement and the Taiping
Rebellion.

IR BT @ SRR Rz W 930 Qe [ReeE e

4.  Discuss in short the background of the May Fourth Movement in China.
Bt (31 19 AT c2Pi=ib FREFC SCHA Tt

5. How did China and Japan respond to Westernisation?

APBTEIFAed &ife Bl 8 weii e et frcafee 2

6. Do you think that the capitalist growth in Meiji Japan was sponsored by the state?

oftl & W 9 @ RS W gworEa [ AE Sraiet T ¢

7.  Discuss the significance of the Sino-Japanese War (1894-95).
BIF @19 I& (Sb98-d@ )-a7 Sl ST FCAT |

8.  Examine the nature of Meiji Restoration. Was it a real restoration?

(& BN eigpfs Rbta a1 @fb & 7d ~@szem e ¢

9.  Discuss the educational reforms in Japan in the second half of the 19th Century.
Bt =it RS wmiicaa Frtsie SR S7wite Lo FCA

10. Explain the growth of Militarism in Japan during the 1930s and 1940s.
Sfel *rorza fofam! @ e Wit S STRRITes [Rem FiR I

3069 2



